

PUBLIC INTEREST ADVOCACY CENTRE LE CENTRE POUR LA DÉFENSE DE L'INTÉRÊT PUBLIC

January 26, 2016

PIAC FILE # 6554-08

Ms. Kirsten Walli Board Secretary Ontario Energy Board Suite 2700 2300 Yonge Street 27th floor Toronto, ON M4P 1E4

VIA E-Mail 7 pages

Dear Ms. Walli:

Re:

Board File No. EB-2014-0080 Hearst Power Distribution Company Ltd. Cost Claim of Vulnerable Energy Consumers Coalition (VECC)

On behalf of the Vulnerable Energy Consumers Coalition (VECC) we have attached their cost claim with respect to the above-noted proceeding. We have also directed a copy of the same to the Applicant.

Thank you.

Yours truly,

Michael Janigan Counsel for VECC

Cc: Hearst – Jessy Richard – <u>irichard@hearstpower.com</u>

Ontario Energy Board COST CLAIM FOR HEARINGS



Affidavit and Summary of Fees and Disbursements

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required fields are filled in and the Affidavit portion is signed and sworn or affirmed.

| | | | 1 | nstructions | |
|-----------------|-------------------|------------------------|------------------|--|--|
| - Required d | ata input is indi | cated by yellow-shad | led fields. For | mulas are present in the d | ocument to assist with the calculation of the |
| cost claim. | | | | | |
| - All claims n | nust be in Canac | lian dollars. If appli | cable, state ex | change rate and country | of initial currency. |
| | | | Rate: | | Country: |
| | | | | [] 마이 아니라 (Barta Salata Sala | t of Fees Being Claimed" and a "Statement of |
| | | | | | nt/paralegal. However, only one |
| | | | | the party's cost claim shou | |
| | | | | gned by a representative | |
| | | iust de attached unio | ess, for a giver | i consultant, a CV has bee | n provided to the Board in another process |
| | ist 24 months. | on 7 02 of the Dunet | ias Discotion | C | |
| - except as p | rovided in secti | on 7.03 of the Pract | ice Direction | on Cost Awards, itemized | receipts must be provided. |
| | | | | | |
| File # EB- | EB 2014-008 | 0 | | Process: Hearst Powe | er Distribution Company Ltd. |
| Party: | VECC | | | Affiant's Name: | Donna Brady |
| HST Numb | er: 13059 | 2405 | | нѕт | Rate Ontario: 3.94% |
| | | Full Registrant | | Qualifyir | ng Non-Profit |
| | | | | Qualityii | |
| | | Unregistered | | | Tax Exempt |
| | | Other | | | |
| | | | | | |
| | | | | Affidavit | |
| l, | | Donna Brady | | , of the City/Town of | Ottawa |
| in the Prov | vince/State o | f <u>C</u> | ntario | | , swear or affirm that: |
| 1. I am a rep | resentative of tl | ne above-noted part | y (the "Party" |) and as such have knowle | dge of the matters attested to herein. |
| | | | | | attached "Summary of Fees and Disbursements |
| | | | | atement(s) of Disburseme | |
| 3. The attack | ned "Summary o | of Fees and Disburse | ments Being C | laimed", "Statement(s) of | Fees Being Claimed" and "Statement(s) of |
| Disbursemen | nts Being Claime | d" include only cost | s incurred and | I time spent directly for th | e purposes of the Party's participation in the |
| Ontario Ene | rgy Board proce | ss referred to above | | | |
| 4. This cost of | claim does not ir | nclude any costs for | work done, or | time spent, by a person t | hat is an employee or officer of the Party as |
| described in | sections 6.05 ar | nd 6.09 of the Board | 's Practice Dir | ection on Cost Awards. | |
| | ÷) | ~ | | | |
| | | - | / . | <u></u> | |
| Signature | of Affiant | | | | |
| | | ore me at the Cit | | Ot | tawa , |
| in the Pro | vince/State o | f | Ontario | , on | TANUARY 26, 2016. |
| | | | | | G (50) |
| | |) | | | |
| Commissi | oner for takir | ο Affidavits | | | |

Ontario Energy Board COST CLAIM FOR HEARINGS



Affidavit and Summary of Fees and Disbursements

| File # EB- | EB 2014-0080 | Process: | Hearst Power Distribution Company Ltd. |
|-------------------|--------------|------------------------------|--|
| Party: | VECC | | |
| | | Summary of Fees and Disburse | ments Being Claimed |
| Legal/con | sultant fees | \$19,650.00 | |
| Disbursen | nents | \$0.00 | |
| HST | | \$774.21 | |
| Total Cost | t Claim | \$20,424.21 | • |

Ontario Energy Board COST CLAIM FOR HEARINGS



Detail of Fees and Disbursements Being Claimed

| File # EB- | 2014-0080 | | Process: H | earst 2015 Rates | |
|------------|---|--------------|-----------------------------|---|-------------|
| Party: | VECC | | Service Pro | | |
| | SERVICE PROVIDER TYPE | (check one) | Year Called to Bar | Completed Practising/Years Experier | of Relevant |
| | Legal Counsel Articling Student/Paralegal | | | 36 | |
| | Consultant Analyst | | | Hourly Rate: | \$330 |
| | For Consultant/Analyst: | CV attac | hed ided within previous | HST Rate Charged (enter %): | 3.9% |

| | CV provi | | | 3000 6 6000 | | | |
|-----------------------------|------------|------|-----------|-------------|------------|--------------|------------------------|
| S | tatement o | f Fe | es Being | Cla | imed | | |
| | Hours | Но | urly Rate | | Subtotal | HST | Total |
| Pre-hearing Conference | | | | | | | |
| Preparation | | \$ | 330.00 | \$ | + | \$ + | \$ (-) |
| Attendance | | \$ | 330.00 | \$ | 120 | \$ 2 | \$ 92 |
| Technical Conference | | | | | | | |
| Preparation | 2.5 | \$ | 330.00 | \$ | 825.00 | \$ 32.51 | \$ 857.51 |
| Attendance | 4.25 A.3 | \$ | 330.00 | \$ | 1,402.50 | \$ 55.26 | \$ 1,457.76 |
| Interrogatories | | | | | | | |
| Preparation | 5.0 | \$ | 330.00 | \$ | 1,650.00 | \$ 65.01 | \$ 1,715.01 |
| Responses | | \$ | 330.00 | \$ | (=): | \$ ~ | \$)=: |
| Issues Conference | | | | | | | |
| Preparation | | \$ | 330.00 | \$ | (=.) | \$ - | \$ (#) |
| Attendance | | \$ | 330.00 | \$ | 9. | \$ - | \$ |
| ADR - Settlement Conference | | | | | | | |
| Preparation | 8.0 | \$ | 330.00 | \$ | 2,640.00 | \$ 104.02 | \$ 2,744.02 |
| Attendance | 4.25 A.3 | \$ | 330.00 | \$ | 1,402.50 | \$ 55.26 | \$ 1,457.76 |
| Proposal Preparation | 6.0 | \$ | 330.00 | \$ | 1,980.00 | \$ 78.01 | \$ 2,058.01 |
| Argument | | | | | | | |
| Preparation | | \$ | 330.00 | \$ | 31 | \$ = | \$ - |
| Oral Hearing | | | | | | | |
| Preparation | | \$ | 330.00 | \$ | 20 | \$ - | \$ 5 4 5 |
| Attendance | | \$ | 330.00 | \$ | :::1 | \$ - | \$ 1 + 3 |
| Other Conferences | | | | | | | |
| Preparation | | \$ | 330.00 | \$ | - | \$ = | \$ |
| Attendance | | \$ | 330.00 | \$ | 3 0 | \$ 2 | \$ (3) |
| Case Management | | \$ | 170.00 | \$ | . | \$ - | \$ · |
| TOTAL SERVICE PROVIDER FEES | | | | \$ | 9,900.00 | \$ 390.06 | \$ 10,290.06 |

Ontario Energy Board COST CLAIM FOR HEARINGS



Detail of Fees and Disbursements Being Claimed

| File # EB- | 2014-0080 | | Process: H | learst 2015 Rates | | | |
|------------|--|--------------|------------------------------------|---|-------------|--|--|
| Party: | VECC | | Service Provider Name: Mark Garner | | | | |
| | SERVICE PROVIDER TYPE | (check one) | Year Called to Bar | Completed Practising/Years Experies | of Relevant | | |
| | Legal Counsel | | | 28 | | | |
| | Articling Student/Paralegal Consultant Analyst | | | Hourly Rate: | \$325 | | |
| | For Consultant/Analyst: | CV attac | ched | HST Rate Charged (enter %): | 3.9% | | |
| | | ✓ CV prov | ided within previous | 24 months | | | |

| S | tatemen | t o | f Fe | es Being | Cla | imed | 1 2 2 | | | |
|-----------------------------|---------|--------|------|-----------|-----|----------------|------------------------|-------|-----------|--|
| | Hours | | Но | urly Rate | | Subtotal | HST | Total | | |
| Pre-hearing Conference | | | | | | | | | | |
| Preparation | | | \$ | 325.00 | \$ | æ | \$ - | \$ | = | |
| Attendance | | | \$ | 325.00 | \$ | 92 | \$ 923 | \$ | 2 | |
| Technical Conference | | | | | | | | | | |
| Preparation | | | \$ | 325.00 | \$ | S - | \$ - | \$ | - | |
| Attendance | 3 | .0 | \$ | 325.00 | \$ | 975.00 | \$ 38.42 | \$ | 1,013.42 | |
| Interrogatories | | | | | | | | | | |
| Preparation | 7 | .5 | \$ | 325.00 | \$ | 2,437.50 | \$ 96.04 | \$ | 2,533.54 | |
| Responses | 6 | .5 | \$ | 325.00 | \$ | 2,112.50 | \$ 83.23 | \$ | 2,195.73 | |
| Issues Conference | | | | | | | | | | |
| Preparation | | | \$ | 325.00 | \$ | - | \$ | \$ | - | |
| Attendance | | \Box | \$ | 325.00 | \$ | - | \$ - | \$ | - | |
| ADR - Settlement Conference | | \neg | | | | | | | | |
| Preparation | 6.25-6 | .3 | \$ | 325.00 | \$ | 2,031.25 | \$ 80.03 | \$ | 2,111.28 | |
| Attendance | 4.75 4 | .8 | \$ | 325.00 | \$ | 1,543.75 | \$ 60.82 | \$ | 1,604.57 | |
| Proposal Preparation | 2 | .0 | \$ | 325.00 | \$ | 650.00 | \$ 25.61 | \$ | 675.61 | |
| Argument | | | | | | | | | | |
| Preparation | | \neg | \$ | 325.00 | \$ | 12 | \$ - | \$ | - | |
| Oral Hearing | | \neg | | | | | | | | |
| Preparation | | | \$ | 325.00 | \$ | - | \$ - | \$ | - | |
| Attendance | | | \$ | 325.00 | \$ | - | \$ - | \$ | - | |
| Other Conferences | | | | | | | | | | |
| Preparation | | | \$ | 325.00 | \$ | 10 | \$ | \$ | | |
| Attendance | | | \$ | 325.00 | \$ | 94 | \$ (4) | \$ | _ | |
| Case Management | | | \$ | 170.00 | \$ | 7.4 | \$ (+) | \$ | - | |
| TOTAL SERVICE PROVIDER FEES | | Т | | | \$ | 9,750.00 | \$ 384.15 | \$ | 10,134.15 | |

Econalysis Consulting Services

34 King St East Suite 630 Toronto, Ontario M5C 2X8

Statement of Costs

| Date | File# |
|------------|---------|
| 25/01/2016 | 2016014 |

Public Interest Advocacy Centre
Suite 1204
1 Nicholas Street
Ottawa, ON
K1N 7B7

| Terms | Docket No. |
|--------|--------------|
| Net 30 | EB-2014-0080 |

Project Hearst 2015 Rates Serviced Item Description Hours Rate Amount 09/08/2015 Interrogatories Preparation 3 330.00 990.00 10/08/2015 Interrogatories Preparation 0.75 330.00 247.50 11/08/2015 Interrogatories Preparation 1.25 330.00 412.50 16/08/2015 Interrogatories Preparation Interrogatory preparation/review 325.00 325.00 past decisions/intervention/draft 17/08/2015 Interrogatories Preparation Interrogatory preparation/draft 6.5 325.00 2,112.50 notes/compendium 15/09/2015 Technical Conf. Preparation 1.25 330.00 412.50 17/09/2015 Technical Conf. Preparation 1.25 330.00 412.50 22/09/2015 Interrogatories Responses Reivew interrogatory 6.5 325.00 2,112.50 responses/prepare for teleconference technical conference. 23/09/2015 Technical Conf. Attendance 4.25 330.00 1,402.50 23/09/2015 Technical Conf. Attendance Teleconference technical 325.00 975.00 conference 29/10/2015 ADR Preparation 4 330.00 1,320.00 30/10/2015 ADR Preparation 3 330.00 990.00 03/11/2015 ADR Preparation Prepare Settlement Notes/confer 6.25 325.00 2,031.25 with MJ 04/11/2015 ADR Attendance 4.25 330.00 1,402.50

HST #10160 6028

Total

Econalysis Consulting Services

34 King St East Suite 630 Toronto, Ontario M5C 2X8

Statement of Costs

| Date | File # |
|------------|---------|
| 25/01/2016 | 2016014 |

Bill To Public Interest Advocacy Centre Suite 1204 1 Nicholas Street Ottawa, ON K1N 7B7

| Terms | Docket No. |
|--------|--------------|
| Net 30 | EB-2014-0080 |

| Hearst 2015 Rates | | | | | | | | | |
|--------------------------|--|--|--|----------------|--|--|--|--|--|
| Item | Description | Hours | Rate | Amount | | | | | |
| ADR Attendance | Attend Settlement Conference (9:30am - 3:45). Not charged for overlapping time with BH | 2 | 325.00 | 650.00 | | | | | |
| ADR Preparation | | 1 | 330.00 | 330.00 | | | | | |
| ADR Attendance | Attend Settlement Conference (9:30am-11am /1:15-2:30pm) | 2.75 | 325.00 | 893.75 | | | | | |
| ADR Proposal Preparation | Attended Antonial Antonial Control of the Antonial Antonial Control of the Antonia Control of | 0.5 | 330.00 | 165.00 | | | | | |
| ADR Proposal Preparation | | 25005.0 | | 165.00 | | | | | |
| ADR Proposal Preparation | 1 | | | 165.00 | | | | | |
| | | | | 495.00 | | | | | |
| | | | | 660.00 | | | | | |
| | Conf call and review proposal | 1 | | 330.00 | | | | | |
| ADR Proposal Preparation | Settlement Proposal review/call with Board Staff, BH/review with MJ/VECC). | 2 | 325.00 | 650.00 | | | | | |
| 1 | | | | 19,650.00 | | | | | |
| | HST on Sales | | 13.00% | 2,554.50 | | | | | |
| | | | | | | | | | |
| | ADR Attendance ADR Preparation ADR Attendance ADR Proposal Preparation | ADR Attendance ADR Attendance ADR Preparation ADR Attendance ADR Preparation ADR Proposal Preparation | ADR Attendance Attend Settlement Conference (9:30am - 3:45). Not charged for overlapping time with BH ADR Preparation ADR Proposal Preparation Settlement Proposal review/call with Board Staff, BH/review with MJ/VECC). Subtotal | ADR Attendance | | | | | |

HST #10160 6028 \$2,554.50

Total \$22,204.50